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Answer Key & Worked Solutions 

ACS Paper 

P6 Mathematics SA1 2018 

Paper 1 

Q1 Q2 Q3 Q4 Q5 Q6 Q7 Q8 Q9 Q10 

3 3 4 4 3 2 1 2 1 2 

Q11 Q12 Q13 Q14 Q15 

4 4 4 4 2 

Q16) 6
9
20

Q17) 1
8
21

Q18) 82 ° Q19) Q20) $64.20 

Q21)  112 
marbles 

Q22) Q23) 60 ° Q24) $62 Q25) 

Q26)  0745 Q27) 600 m ℓ Q28) 
i) Not
possible to
tell
ii) True

Q29)  
6
17

Q30) 2
2
9
 min 
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Paper 2 
Q1. 370 – 344  26 
Q2. 3u  2.4 

5u  
5
3
 x 2.4  4 kg 

Q3. (a) South
(b)

Q4. 4 + 1.4 = 5.4 
0.70 – 0.50 = 0.20 
5.4 ÷ 0.2 = 27 
27 + 8 = 35 rulers 

Q5. Area of shaded parts  12 + 36 + 60 + 84  192 cm2 
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Worked Solutions 
Show your working clearly in the space provided for each question and write your 
answers in the spaces provided. 

6. a)

Length of remaining wire = 150 – 3w – 4w – 4w – 5w = 150 – 16w cm

b)

Perimeter of equilateral triangle = 150 – 16 x 6 = 54 cm

Length of side of triangle = 54 ÷ 3 = 18 cm

Ans:  (a)  150 – 16w cm 
(b) 18 cm

7. a)

Number of apple fans = 24

Number of durian, mango and orange fans = 38 + 12 + 22 = 72

Ratio of number of apple fans to total number of durian, mango, orange fans 

24 : 72  1: 3

b)

3
4
 (24 + 72)  96

1
4
 96 ÷ 3  32

Number of strawberry fans = 32

Ans:  (a)  1 : 3 
(b) 32
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8. 
6
6
 of Board B =  270 cm 

1
6
 of Board B = 270 ÷ 6 = 45 cm 

4
6

 of Board B = 45 x 4 = 180 cm 

6
8

 of Board A = 180 cm 

1
8

 of Board A = 180 ÷ 6 = 30 cm 

8
8

 of Board A = 30 x 8 = 240 cm 

Ans:  240 cm 

9. Let t = time in minutes that Lincoln took to meet Mandy

Distance Lincoln travelled = 400 x t = 400t  m

Distance Mandy travelled = 300 x (t + 4) = 300t + 1200 m

Distance Lincoln travelled = distance Mandy travelled

400 t = 300 t + 1200

100 t = 1200

t = 12 minutes

Distance Mandy jogged when they met = 300 x 12 + 1200 = 4800 m

Ans:  4800 m 
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10. ∠ AGC = 180 ÷ 3 = 60° (AGC is equilateral triangle) 

∠ GCD = 90 – 60 = 30° 

∠ CGD = (180 – 30) ÷ 2 = 75° (CDG is isosceles triangle) 

∠ AGD = ∠ AGC + ∠ CGD = 60 + 75 = 135° 

Ans:  135° 

11. a)

Student A’s score = 24 x 5 – 11 x 2 = 98

Student B’s score = 25 x 5 – 14  x 2 = 97

Student C’s score = 22 x 5 – 8 x 2 = 94

Student A score the most points

b)

Number of questions done by Student D = 22 + 8 = 30

Student D’s score = 94 + 21 = 115

Difference between correct and wrong score = 5 + 2 = 7

If all 30 answers are correct, points = 30 x 5 = 150

Excess = 150 – 115 = 35

Number of wrong answers = 35 ÷ 7 = 5

Number of correct answers = 30 – 5 = 25

Ans:   (a) Student A, 98 

(b) 25
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12. a)

∠u = 72°

∠a = 180 – 72 = 108°

b)

∠URS = 72°

∠RUS = 180 – 72 – 46  = 62°

∠TUS = 180 – 62 = 118°

∠b = (180 – 118) ÷ 2 = 31°

Ans:   (a)  108° 
(b) 31°

13. Let number of muffins made = 40u (multiple of 5 and 8) 

Number of chocolate muffins made =
4
5
 x 40u = 32u 

Number of chocolate muffins sold = 
5
8
 x 32u = 20u 

Total number of muffins sold = 
3
5
 x 40u = 24u 

Number of blueberry muffins sold = 24u – 20u = 4u = 84 
u = 84 ÷ 4 = 21
Number of muffins sold = 24u = 24 x 21 = 504

Ans:   504 muffins 
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14. a)

Amount of water to fill to brim = 
2
3

 x 36 x 70 x 25 = 42 000 cm3 

b) 

Net inflow of 2 taps = 42000 ÷ 30 = 1400 cm3 per minute 

Flow rate of Tap X = 750 + 1400 = 2150 cm3 per minute 

Ans:  (a) 42 000 cm3 

(b) 2150 cm3 / min

15. a)

ii) Let figure number = n

Number of shaded squares = n + 1 

Total number of squares for fig 4 = (n + 1) x (n + 1) 

= (4 + 1) x (4 + 1) = 25 

i) 

Number of unshaded squares for fig 4= (n + 1) x (n + 1) - (n + 1) = n x (n+1) 

=  4 x 5 = 20 

b)  

Unshaded squares in figure 40 =  (40 + 1) x (40 + 1) - (40 + 1) = 1640 

c) 

unshaded square for fig 20 = n x (n+1) = 420 

unshaded square for fig 19 = 19 x 20 = 380 

Ans:  (a) i) 20, ii) 25 
(b) 1640
(c) 19
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16. Let cost of undiscounted tablet = u

Total cost of discounted table = 
7
10

u +
5

10
u =

6
5

u = 960

u = 960 x 5 ÷ 6 = $800

Extra amount without discount = 800 x 2 – 960 = $640 

Ans:   $640 

17. Radius of larger circle = (64 – 6) ÷ 2 = 29 cm

Area of larger circle = π x 29 x 29 = 841π cm2

Radius of smaller circle = 29 – 3 = 26 cm

Area of smaller circle = π x 26 x 26 = 676π cm2

Area of 
3
4

 shaded ring = 
3
4
  x (841 π – 676 π) = 388.575 cm2 

Area of cross = (29 + 6) x 3 x 2 - 9 = 201 cm2 

Area of shaded part = 388.58 + 201 = 589.58 cm2 

Ans:  598.58 cm2 




